Advanced Math
9a-2
Arithmetic Sequences

Arithmetic Sequence - Al +he tecms have a common
diFFecence, 4.

Determine whether or not the sequence is arithmetic. (pg 726)
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nth term of an Arithmetic Sequence: a.=a, . d(n- ,)

Write the first five terms of the sequence. Determine whether the sequence is
arithmetic, and if it is, find the common difference.
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Write the first five terms of the arithmetic sequence.

Finish with the true

First, adjust like so: ;e‘t P n_—oad st equation.
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Find a formula for a, for the arithmetic sequence.
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Sum of an arithmetic sequence S,, . _z_ ( a,+ a\,..)

This is the history of how this formula came about. Notice the underlined terms add to 101.
Hence, a; + a,. Since we use two at a time, there are 50 pairs, or n/2. They multiply to 5050.
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Find the sum of the first n terms of the arithmetic sequence.
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Evaluate -
100
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n=l In this problem, a0 was

S = 100 <g + goo> easy to find. If not easy, use
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Assignment:
pg. 726
2-24 every 4th,
26-44 even,
56-78 even,
82.




